
� � 1E 
2004.03.03 

    
�

1. ( 1 ) 
 

 
 

 
 

 
 

 
 

 
 
2.  
2.1 ( 1 ) 
 
[ ] SIN [ ] LOG 
 
[ ] COS [ ] LOG10 
 

[ ] TAN [ ] INT 
 
[ ] ATAN [ ] ABS 
 

[ ] EXP [ ] MOD 
 
 

2.2  
(1) ( 2 ) 
 
[ ] U=SIN(R) 
 
[ ] V=COS(R) 
 
 

(2) (5 ) 
 

X[ ] R[ ]  
 
 
 
3.  
3.1 ( 2 ) 
 

[ ]  
 
ROOT(A,B,C)=(-B+SQRT(B*B-4.0*A*C))/(2.0*A) 
 

[ ] ANS1=ROOT(X,Y,Z) 
 

 
3.2 (2 ) 
 
[ ] X*X+SQRT(1.0-X+X*X) 

 

4.  
4.1 (5 ) 
 

1 (1 )

( )
 

 
 
 

4.2 ( 2 ) 
 
[ ] FUNCTION F(X) 
 

[ ] ABS(X).LE.1.0 
 
[ ] F=SQRT(1.0-X*X) 
 
[ ] F=0.0 
 

[ ] RETURN 
 
 
 

5.  
5.1 ( 2 ) 
 
[ ] SUBROUTINE 
 

[ ]  
 
[ ] RETURN 
 
[ ]  
 

[ ]  
 
[ ]  
 
 

5.2 ( 2 ) 
 

[ ] CALL PIPE(8.0, 6.0, 350.0, 7.8, V, W) 
 
[ ] SUBROUTINE PIPE 
 
[ ] V=3.14159/4.0*(X*X-Y*Y)*L 
 

[ ] W=V*G 
 
[ ] RETURN 
 
 

5.3 ( 3 ) 
 
I=55 
 
J=66 
 
K=8 
 
M=10 



6.  
6.1 1( )(11 ) 
�
�
*========================================= 
*  MAINROUTINE 
*========================================= 
      PROGRAM MAIN 
      REAL A,B,C,S 
 
      READ(5,*)A,B,C 
 
      S=HERON(A,B,C) 
       
      WRITE(6,*)S 
 
      STOP 
      END 
 
*========================================= 
*  FUNCTION 
*========================================= 
      REAL FUNCTION HERON(A,B,C) 
      REAL A,B,C,S 
 
      S=(A+B+C)/2.0 
 
      HERON=SQRT(S*(S-A)*(S-B)*(S-C)) 
 
      RETURN 
      END 

�
6.2 2( )(11 ) 
 
 

*========================================= 
*  MAINROUTINE 4.2 MONDAN2 
*========================================= 
      PROGRAM MAIN 
      REAL DEG1,DEG2,RAD1,RAD2,PI 
      REAL Z1,Z2,Z3,Z4 
 
      PI=3.141592 
 
      READ(5,*)DEG1,DEG2 
      RAD1=DEG1*PI/180.0 
      RAD2=DEG2*PI/180.0 
 
      CALL KEISAN(RAD1,RAD2,Z1,Z2,Z3,Z4) 
       
      WRITE(6,*)DEG1,DEG2,Z1,Z2,Z3,Z4 
 
      STOP 
      END 
 
*========================================= 
*  SUBROUTINE 
*========================================= 
      SUBROUTINE KEISAN(R1,R2,Z1,Z2,Z3,Z4) 
      REAL R1,R2,Z1,Z2,Z3,Z4 
 
      Z1=SIN(R1)+SIN(R2) 
      Z2=SIN(R1)-SIN(R2) 
      Z3=SIN(R1)*SIN(R2) 
      Z4=SIN(R1)/SIN(R2)       
 
      RETURN 
      END 
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